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•��
�7 �
 �A�>� �
 ��8��$ +� � �T
��� �
 ��� ���6 �2��� .8
 �� � �:� �� &7 �
�
-  
E� J�� � �:� �
 E� F�� �
 "-
- �����. �
 ?��MA 	K�- ��
�7 E� ���6�8 �
 "-
-  
.8
 �� �
 �-
��� �gA )� �DT��( SM�	� � F�� +� ��)G� "�� .8
.  

•�
 &
��A C�N� �
 ���7 �
 J�� c ��
�� �� 12 �gA �K:� �
 F�� int ���
- ���
.
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•�
	
 &PA
 E� ��
�7 ���
 F�� ��� "-
- 3�gA J�� � -
��� ���gA )� "�
��
( ��
�7 
L<G� -��:

]��
�7 � "�
��
 �� C�! [  ��
�7 J���
 "-
- F��
•J�� ��
�7 ���
 E� � �8��� ��>� C++ ���
.
•"�
��
 )C�!( ��
�7 ���
 E� -�A a�ZU 	���'
 �
 	DU ���
.
•� "�
��
 ��
�7 ���
 &��- [P� [] ����� -��.

•C�N�:
int c[12];

•&PA
 E� ��
�7 �
 J�� � �
 12 �gA �
 F�� a�ZU: ���� 	0��Q��� �
	
 12 �gA  
��
�7 �
 �
�,� -��� ���� 	� -�A a�ZU ��
� �2��� �- 	2� -	�� ��.

•C�N�:
double x[27], b[100];

char name[20];
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0���7 �� ��� ;: 0� #�	��-

•=$ �
 &PA
 E� ��
�7 &
�� �� �
 ����gA &7 ��-�
�,� -	� �� �
 �� &7 �- �
	(
  
?�M8�Z� "-�D�8
 -	�.

•�
	
 �8	�8- �
 E� 3�gA 
��

 J�� ��
�7 � =Q8 =���
 )� "��:� &�)�( �gA  
-��� 	2� &��- [P� [] L<G� -�� ��.

•�(��: 4���<� �gA 	� ��
�7 �
�
- =���
 	DU .8
 � �
 4�:� ��T- �gA J	DU  
+� "����� -�� ��.

•4�
	
��
 	�
 c �
 ��
�7 �
 12 �gA 3���
 �

c[0] c[1] c[2] c[3] ... c[9] c[10] c[11]

    &
�� �� �
 ����gA � ��
�7 c �8	�8- 
��$ -	�.
•.�- ���� �� =���
 4�	67 �gA ��
�7 �G�:� E� ��
� �
 � "�
��
 ��
�7 	�:�  

.8
.
•=$ =���
 ��
�7 ���
 E� -�A a�ZU �D���� 	�)*�� �
 � "�
��
 ��
�7 ���
.
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•C�N�: ���8- 	�� F�:>� �8 �gA C�
 ��
�7 
� �- �(�	6 X�* ��� ��:
cout << c[0] + c[1] + c[2] << endl;

•� ���8- 	�� �gA +�D� ��
�7 
� 	
 2 +��,� ��� �� � �>��� 
� �- 	�\�� x 4�'K��( 
��� ��:

x = c[6] / 2;

•=���
 ��
�7 ��
�� �� E� ?��MA a�ZU )�
 F�� int( +� ���
: �- 4�
 ?��U 

��

 ?��MA �
����
 "�� � =Q8 �
�,� �U�� =���
 
� L<G� ��� ��.

•C�N�: k	� ���� a � b �- 	�\�� a�ZU ����
 �� �
 _��	� �
�- ����
�,� 5 � 6 
����
. �- 4�
 ?��U ?���8- 	�� �
 �gA c[11] ��
�7 �
�,� 2 
� ���l
  

��� �� � �>��� 
� �- 4�:� �gA 4�'K��( ��� ��:
c[a + b] += 2;
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#include <iostream>

#include <iomanip>

using namespace std;

int main()

{

int n[10];

for (int i = 0; i < 10; i++)

n[i] = 0;

cout << "Element" << setw(13) 

<< "Value" << endl;

for (int j = 0; j < 10; j++)

cout << setw(7) << j << setw(13) 

<< n[j] << endl;       

return 0;

}
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•�- 4�
  ����	
 
��

 �
 ��
�7 �
 F�� int �
 J�� n � �
 � "�
��
 10 &PA
 "�� .8
.
•=Q8 �
 E� �,0� �
	
 �
�,� ��- ��T�
 �
 ����gA ��
�7 "-�D�8
 "�� .8
. �-  

�>��
 � �:� ����gA ��
�7 	

	
 �
 	DU �
	� "-
- ��
 "��.
•�- &���$ �
 E� �,0� � 	K�- �
	
 X�* ����gA ��
�7 "-�D�8
 "�� .8
.
•�(�	6 ����	
 �
 �)� 	�� .8
:
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#include <iostream>

#include <iomanip>

using namespace std;

int main()

{

int n[10] = {32, 27, 68, 18, 95, 14, 90, 70, 

60, 37};

cout << "Element" << setw(13) 

<< "Value" << endl;

for (int j = 0; j < 10; j++)

cout << setw(7) << j << setw(13) 

<< n[j] << endl;

return 0;

}
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•�- 4�
 3����	
 &��� +� �
 &PA
 ��
�7 �
�,� ��- ��T�
 '�� ?��U ���	� .8
.
•�
	
 4�
 ��2�� =$ �
 3&PA
 E� 	K0:A ���'K��( �
	� -�
- � =Q8 �6
-  

- ��7 ��
 � ���
 ����
�,� 3��T�
 �� �
 ���� �
 +� 
�( 3��
 "�� ����� "�� .8
.
•	�
 -
��� ����
�,� ��T�
 	�:� �
 -
��� ���gA )� "�
��
( ��
�7 3���
 ����gA  

"���:���
 �
 ?��U k	� ;�$ �
�,� � ��T�
 	DU ��	�� ��.
•=$ &PA


int n[10] = {0};

•�
 ��! a�	U �
�,� � ��T�
 �gA C�
 
� 	DU � �
 ��! ��:l �
�,� ��T�
 � 	��8  
���gA 
� 	DU  �
	� ��- ��.

•	�
 � "�
��
 ��
�7 � .��T ��-�
�,� ��T�
 �- &PA
 L<G� "�� 3����
 "�� &7 -
��� 
����
�,� ��T�
 ���
 	�)*�� �� 	

	
 -
��� ����gA ��
�7 ���
.

•C�N�: &PA
 	�� 	>�� �
 ��56 &��� ���Q��� -�� �� 
	�� -
��� ����
�,� ��T�
 �
  
� "�
��
 ��
�7 	���'
 .8
:

 int n[5] = {32, 27, 64, 18, 95, 14};
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•	�
 � "�
��
 ��
�7 �- &PA
 ��
�7 �� �
�
- .��T ��-�
�,� ��T�
 .8
 mV� 3-��  
	0��Q��� -
��� ����gA ��
�7 
� 	

	
 �
 -
��� ����gA 	�-�,� .��T ��-�
�,� ��T�
  

�
	� ��- ��.
•=$ &PA


int n[] = {32, 27, 64, 18, 95, 14};

•E� �
 ��
�7 n�$ ��gA 
� �
 J�� n  -�>�
 ��� ��.
•�(�	6 ����	
 �
 �)� 	�� .8
:
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#include <iostream>

#include <iomanip>

using namespace std;

int main()

{

const int arraySize = 10;

int s[arraySize];

for (int i = 0; i < arraySize; i++)

s[i] = 2 + 2 * i;

cout << "Element" << setw(13) 

<< "Value" << endl;

for (int j = 0; j < arraySize; j++)

cout << setw(7) << j << setw(13) 

<< s[j] << endl;      

return 0;

}
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•@�U�� � "���� const �
	
 &PA
 E� �
��� ���� �
 ��� -�� ��.
•���	�\�� .
�c ���
 J�K�� &PA
 �
 E� ?��MA .
�c �
�,� ��T�
 ��	�K
.
•�
�,� E� 	�\�� .
�c =$ �
 &PA
 ��
�� �:� �- ����	
 	��\� ���.
•���8-

const int arraySize = 10;

•	�\�� .
�c arraySize 
� �
 �
�,� 10 &PA
 ��� ��.
•J�A ��-�
�,� ��T�
 � 4�'K��( &-	� �
�,� �- ���	�\�� .
�c =$ �
 &PA
 ��56 

&��� ���Q��� .8
:
const int x;  � ���

x = 7; � ���

•�
	
 &PA
 � "�
��
 E� ��
�7 �
 E� 3	�\�� �/�� &
�� �� �
 ���	�\�� .
�c  
)const( "-�D�8
 -	�. J�A "-�D�8
 �
 const �
	
 4�
 ��2�� ��56 &���  

���Q��� .8
.
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•"-�D�8
 �
 ���	�\�� .
�c �
	
 L<G� &-	� C�! ���7 �� .�0
�� 	��\� ����	
 
�  �
 
-	
 �� � ����
�6 &7 
� ;�
'�
 �� ��-.

•�- � ����	
 �M� 	�
 +��
�<
 C�! ��
�7 
� �
 �	 �
 �			 	��\� +��- .����� 
���8-

const int arraySize = 10;

    
� �
 ���8- 	�� 4�'K��( +���:
const int arraySize = 1000;

•�(�	6 ����	
 �
 4�
 �)� .8
:
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#include <iostream>

using namespace std;

int main()

{

const int arraySize = 10;

int x[arraySize];

for (int i = 0; i < arraySize; i++)

{

cout << "\nEnter a grade: ";

cin >> x[i];

}

int total = 0;

for (int j = 0; j < arraySize; j++)

total += x[j];
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•E� �(�	6 �A�� ����	


cout << "Total of array elements: " 

<< total << endl;

cin.get();

return 0;

}
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•C�N�: -
��� &
���	� 200 "-
���6 �- �)� �
 ���	/� &
	�
 �
 �
	� C��( 	�� .8
  
)&��-�M/
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#include <iostream>

using namespace std;

int main()

{

const int k = 7;

int x[k] = {0, 1, 2, 3, 4, 5, 6};

int n[k] = {20, 30, 50, 40, 30, 20, 10};

cout << "Number of children: " << endl;

for (int i = 0; i < k; i++)

{

cout << x[i] << ": ";

for (int stars = 0; stars < n[i]; stars++)

cout << '*';

cout << endl;

}



���� ������ � �������� ������������ ��	
��
��� ����

 ����29

•�(�	6 ����	


return 0;

}
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#include <iomanip>

#include <cstdlib>

#include <ctime>

using namespace std;

int main()

{

const int m = 7;

int frequency[m] = {0};

srand(time(0));

for (int roll = 1; roll <= 6000000; roll++)

frequency[ 1 + rand() % 6 ]++;
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for (int face = 1; face < arraySize; face++)

cout << setw(4) << face << setw(13) 

<< frequency[face] << endl; 

cin.get();

return 0;

}
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•9
�� srand E� &�����7 �
 F�� unsigned int -	�� �� �� �
 	� ��
 
�
	(
 3����	
 �
 �T�M�- ?��D�� �
 -
�A
 ��-�b� �M� ��T�� ���.  

•9
�� srand �- ����	8 <cstdlib> .8
 � �
 ��g� J�� std q0�� -�
-.
•9
�� time &��� �0Z� 
� 	
 _�� ��� ����c �! "�� �
 _� �:�� C�
 � ����
r  

1970 �
 .�� R����	� 
� 	
 ��
-	� ��.
•9
�� time �- ����	8 <ctime> .8
 � �
 ��g� J�� std q0�� -�
-.
•���8- 

srand(time(0));

•WA�
 -�� �� 	���Q��� �
	
 .8�
 &-��7 �
�,� ��T�
 �
	
 ��T�� -
�A
 3��-�b� �M�  
�
 ��! E������
 .A�8 +���8 
� ��
�<
.

•	�
 �
 ���8-  �
 "-�D�8
 -�G� �- 	� �
	(
 ����	
 -
�A
 ��-�b� �M� ����)� ��T�� 
��
�6 ��.
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•��� "-
- u�
	� �
 	2� 40 �>G�
- �- -��� .�D�� �
V` 4T�8 ���6
V` "�KG�
- 	
  
]�8
 ]��,� 1 �� 10 )1 �0�6 3�
 10 �0�6 [�6( �- ����6
 .8
. � ����	
 	�� 
�� "-
- 
� �- E� � ��
�7 a�ZU �
	� ��- �� � ��
�
	� 	� [
�( 
� �M8�Z� � �-  

�(�	6 X�* ��� ��.
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#include<iostream>

#include<iomanip>

using namespace std;

int main()

{

const int N = 40;

const int k = 11;

const int responses[N] = {1, 2, 6, 

4, 8, 5, 9, 7, 8, 10, 1, 6, 

3, 8, 6, 10, 3, 8, 2, 7, 6, 

5, 7, 6, 8, 6, 7, 5, 6, 6, 

5, 6, 7, 5, 6, 4, 8, 6, 8, 10 };

int frequency[k] = {0};
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for (int answer=0; answer < N; answer++)

frequency[ responses[answer] ]++;

cout << "Rating" << setw(17) 

<< "Frequency" << endl;

for (int rating=1; rating < k; rating++)

cout << setw(6) << rating << setw(17) 

<< frequency[rating] << endl;

return 0;

}
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•� ��
�7 responses �
 ?��U const &PA
 "�� .8
 =$ �
�,� ����gA  
&7 �- ����	
 ���
�� �:� )� ���M� +�( 	��\� ���.

•	�
 "-
- �
�� �� �- � ��
�7 responses �
	� ���
- ���� E� �
�,� ��>�	�`  
����� 13 3����
 ����	
 BP� �� ��� E� ��
� �
 frequency[13] ���l
  
��� �� &�* � ��
�7 frequency �
�
- 11 �gA 3.8
 4�
 =���
 ^��6 �
 

&
	� ��
�7 .8
.
•C++ ��� &
	� �� ��
�7 
� C	��� ��� �:� � 4�
	
��
 ��
�� �:� �
 �8	�8- �
  

��gA �� �- ��
�7 -�(� -�
�� �	���0( ���.
•�8	�8- �
 ��gA �� �- ^��6 �
 ��� &
	� ��
�7 �
	� -�
- ��56 �,5�� &���  

.8
	(
. 4�
 3�56 ��56 ����8- .���.
•J�K�� B�
-	$ �� ��
�7 �
 � �0�8� 3�� �,0� =��� ����	
 ���
 41:5� -�� =���
 ��
�7 

'�	� �
 	DU 	�:� -�� �:� � �G�:� E� ��
� �
 C�! ��
�7 	�:� .8
.


